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Unit 9: Solving Quadratics

Quadratics: Put It Together Name, ) <6u
REVIEW Date —/ Period

Rewrite each of the following equations in factored form. @rhe graphs. Find the vertex
using (22, y).
2a

Ay
1L y=x"-6x+5 ’ | | |
Factored form: (X‘S)(X ") 'ﬁ
REEREERIE x-intercepts: _2_ T &
7 4 X Vertex: (. 3, )
i 7 > Solutions to 0= x® —6x +5
L5
V@(,\.Q\l Q \ b="'((_) X‘:S and Ytl
= ) = i
” s v
4=y
AY
2. y=x"+8x+15 e
IS S LA Factored form:(X "’S)Kngj ‘::j
x> - d . i x-intercepts: (-5.0) (-3 0)
| 8 AN 1oy Vertex: (~H .-
- T 2 ™ > Solutions to
Verkx: 8= b=§ 0= x*+8x+15
(&) \
X= ZEV) %= X-f_ — d o -5
Y= (-4)* + S (NS 3 and X
N \/
y=-
A
3. y=x®+10x+21 - )( ‘
21 - Factored for‘m:(x t1 Yf’_%)-;j
1 x-intercepts:-1. 0| (=3 0)
O b % Vertex: (- S '} ~4()
- é -« - - > Solutions to
\/@rfl'g . 0=l b=10 © et 0= x? +10x + 21
o 0
e 20y - - r : Y*:") and X = '3
WOCHYRCTI:

_ —L\ -be nv i
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Unit 9: Solving Quadratics

Complete parts a — e for numbers 4 — 9.
a. Write the equation in factored/standard form.

b. Name the vertex of the function.
c. Is the vertex a maximum or a minimum point? -‘,b;-
d. Write the equation of the axis of symmetry. X &
e. Name the coordinates of the x—intercepts. b o . O
Y- v
= o |l V = 28 7 20\
= -2¥+2x Y
4, y=(x+2)(x-2) 5. y=x"+4 -
aly=x*-4 a._priné \/
b. (LO,-4) b_(O,Y) :
HARIA U e aY ] B
d_X=0O d_X=¢€
e.(-20\ (2,6} e_NONE
~ © I L F o T Lu
X=X ~4x -4 W2 4% ~2% -8
6. y=(x-4)(x+1) 7. y=(x-2)x+4)
oY= X=X -4 aY: XX -8
b_(L.S,-6.25) -\ AT b
c_ NN c_DND
cd_X=1.5 d._X=~-|
e(4,0) Jb) ‘ e.(2,6\(-Y,
-3 = @2y
e AlE oy N 2(A
e us)z 401591 veossi 4= (5
L’ZS F O 1 L
| —[:Xsz*q‘:] -2 LXEE%s
8. y =—(x—3)(x + 3) - 9. y=-2(x+3)(x+5)
a Y= ~x*+9 aY= 2x™- L X -30
(©,9) b (-5,2)
c._ONOK c. DOV
d__X=6 d__X=-4 i
e(-30) (3.0) e.[~30) (-5,6)
Nery ‘-(O\Q*Q AbS X—:“('"o) =
J a w2 XPomy oo
3 Neery .y == 2 (-4)*- 16 (- “4)-30
y=71
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Unit 9: Solving Quadratics

10.

7N )
o,
Q‘DQ” YAMEr R ™

~ PP
For Th;a(:e_%’.ul’ri%n y =(x—-9)(x +4), name Th)(~ IMQ{‘CQ.\O(’J/USJZ z

X+4 =D
x=4] [x=-d -
When the function f(x) = (x + 6)(x — 6) is graphed, name the x-intercepts.
X+=0 X-(=0

| X= = l [X+6 )

When the equation y = —2(x — 3)(x + 5) is graphed, name the x-intercepts.
X=3 =0 ><+S =D

!X'—'rB] lX=*5l
Findf f(ﬁ;(éz?g - 8) g =D
,X:—B i !X'—S l

‘ \~d
Sketch the following graphs using the x-intercepts and the ver"rex.,__) Oge < Yo Hn

14, y=(x+3) ()6’\"331)('\'3\ 15,
£ o T .45

X"- A3x T j T ‘5
Standard Form: ; S fz l RY;
Vertex: ('3,0\)
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g?frﬁ
B T L
y =(X +1}(x +B) XZ@E{‘/‘Q_\_\*’S

Standard Form: | X 2+ 06X +S ’
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